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INSTRUCTIONS FOR CANDIDATES

1. (a) Candidates are allowed time to fill up the basic information

in the OMR sheet such as Roll No., Paper Code etc.

(&) After this, question booklet will be given to the candidates.
They are required to do the following :

(1) Examine the booklet and to see that all paper seals al
the edge of the booklet are intact. Do not accept the
question booklet if sticker seals are not intact.

(i) Tally the number of pages along with no. of questions
printed oncover of the booklet. Incaseofany discrepancy
pleasc get the booklet changed immediately.

(¢) Candidates are not permitted to mark answer in the Answer-
Sheet in this time, Two hours more will be given to mark the
answers.

2. (@) On OMR Answer-Sheet provided to you, write/put

Application No., Roll No., Center Code, Date of Exam.,

Paper Code, Question Booklet No., Set of Question Booklet

(A, B, C or D) and Signature by Black/Blue Ball Point Pen.

(b) On OMR Answer-Sheet fill in your Roll No., Question
Booklet Set, Paper Code and Centre Code etc. by darkening
corresponding circle O with Black/Blue Ball Point Pen.

(¢) On OMR Answer-Sheet only the answers to questions are (o
be marked. The instructions for this are available on the back
side of OMR Answer-Sheet.

3. Optical Mark Reader (OMR) machine prepares the result by
reading the entries made in the circle O with the Black/Blue
Ball Point Pen on the Answer-Sheet, hence the candidates must
be extremely carcful in marking these entries and must not
commit errors,

4. Name. Roll No. or Identification mark/sign or any character,
word or sentence except answer should not be written/mark
anywhere on OMR Answer-Sheet other than the specified space.
In OMR Answer-Sheet usc only Blue / Black Ball point pen and
should not use other colour or sketch pen, highlighter, glitter pen
ete. If so, such candidate shall be disqualified.

5. Use of any Calculator, Log Table, Mabile Phone and Smart
Watch etc. is prohibited

6. Rough work should be done on the blank pages or in the space
provided for this on each page of this question booklet, Extra
paper will not be provided.

7. In case of any doubl due to any printing mistake, spelling
mistake or any other type of mistake in Hindi or English format
of question, word/senteffee printed in Hindi language will
prevail.

(For instructions regarding marking the snswers please see the

instructions given on back side of OMR Answer-Sheet.)
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A (x+y) +8(x-y) =
(3x + Ay)(3x> + Bxy + C)?)
?, @ (C—A4+ B) = o &
(A) 0 (B) 3
© 2 (D) 4

s ASAHR WY H aHYS ad 264 o1
X ¢ R 39H AFaT 924 WA HiR
21 39% =9 i I=E w1 SquE 9|
I :

(AY 3:7 (B) 7:3

C) 6:7 (D) 7:6

AABCH /4 =48°% 1afe B 3ix ~C

& fgwrore [ W faera €, 91 ZBIC &1 9
U

(A) 119° (B) 13¢%8°

) 14 (D) 102°

R AR He7 & Fm Fuw: 20 3R 25
fTRidm s T aw 10 F o=
FTH FA & 9% IR IER TH F BV
%M B fean 3R vam 3 7=t #m 3
" T WG W o dF @ oEm

T A ¥ fra feq @ ?
(A) 32fg (B) 28 f&7

(C) 29 f&q (D) 30 f&

If (x+y)3+8(x—y)3=

(3x + Ay)(3x? + Bxy + Cy?),
then the value of (C —A4 + B) will be :
(A) 0 (B) 3
© 2 (D) 4

The curved surface area of a cylindrical
pillar is 264 m? and its volume is
924 m3. Find the ratio of its diameter
and its height :

(A) 3:7 B) 7:3

Sy 6:7 (D) 7:6

InA ABC, ZA = 48°, If the bisectors of
4B and ZC meet at /, then the measure
of ZBIC will be :

(A) 119° (.B) 138°

(C) 114° (D) 102°

Hari and Mohan can do a work in
20 and 25 days respectively. After
doing collectively 10 days of work,
they leave the work due to illness and
Shyam completes rest of the work in
3 days. How many days Shyam alone

can take to complete the whole work?
(A) 32days (B) 28 days
(C) 29days (D) 30 days



YT E. 5 TF 6 & few fder
42 feu o v § y&E 9 § 9F sy e
& 1 319! Wy 3R HyA 1 3reEgH S B

3R 9% 99 FE B 5 we 1 3w e & faw
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5. 3viE H qqHE 3y R € 2

. Uraad qd i Fl W IHF A F
39§99 &1 39 9 gl 4

1. 3mfa 3R 39+ =9 Ft g0 U
11:6% STaa d &

. 39 ¥ 99 99 91 37vfg 3R 369+
4 FH IY F U@ 12 : 7 @A
S

(A) 1, 11 3R I

(B) fadk 11 3R 1

(C) TAFAREQ
(D) fak 1R
6. HUH MaFE?
. feer gt o 9@ %1 0fq 8 f. /4,
?
1. "a«eas femd 11 fed.49 %
THR ¥ qSdl ®

1. feer <ot wa e #it foen § = &t
TR &1 3iaX 3 fw /e ®

(A) o 9 Q@ FE

(B) fad 13l

(C) fak 11l

(D) 1 3R 11 T =1y s7eman fak 111

Direction for Question Nos. 5 and 6

Each of the questions given below consists
of a question followed by three statements.
You have to study the question and the
statements, and decide which of the
statements is/are necessary to answer the
question.

5. What is Amav’s present age?

[.  Five years ago, Arnav’s age was
double that of his son’s age at
that time

[I. Present ages of Arav and his
son are in the ratio of 11 : 6

[II. Five years hence, the ratio of
Arnav’s age and his son’s age
will become 12 : 7

(A) I,1IandIII

(B) Only II and III

(C) Any two of the three
(D) Only I and III

6. What is the speed of the current?
I.  Speed of the boat is 8 km/hr in
still water
II. The boat runs at a speed of
11 km/hr downstream
III. The difference between the
speeds of the boat while
travelling in still water and down-
stream is 3 km/hr
(A) Any one of the three
(B) OnlylandlIl
(C) Only Il
(D) Either I and II together or only III



U9 4. 7 wd 8 & for Frder
UrE-91E &1 3149 HIfGU AT Y 4. 7 3 8
%mé’rﬁrq:

T THALT. wrdswn o fafi= aEf (4, B,
C, D 3T E ) W fagragar & ded o i &1
-3 ( feat-arw)

BTAl & Ht T&AT = 2100

7. E ¥ fovgs vk o9& & €& C ¥

favreza wra 3= 9 faq gfaee sifus
22

(A) 25.9% (B) 35%

(C) 32% (D) 31.4%

8. AR B favrga wra sEl &1 §@n C
3R D F fadregar wa =& | x 9= §
EIRELIETE X 156

(A) 65 3R 70
(B) 55 3R 60
(C) 60 3R 65
(D) 50 3R 55

Direction for Question Nos. 7 and 8

Study the pie-chart and answer Question
Nos. 7and 8 :

Break-up (degree-wise) of students in
terms of specialisation in different areas
(4, B, C, D and E) in an MBA program

Total number of students = 2100

7. The number of students specialising
in E is what percent more than that of

students specialising in C ?

(A) 25.9% (B) 35%
(C) 32% (D) 31.4%
8. The total number of students

specialising in 4 and B exceeds the
total number of students specialising
in C and D by x, which lies between :

(A) 65and 70
(B) 55 and 60
(C) 60 and 65
(D) 50 and 55



C,D and E

Total number of boys and girls in
schools A, B,

Study the following bar graph and answer

Direction for Question Nos. 9 and 10
Question Nos. 9 and 10 :
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10.

) &

12,

faemera C & o= 1 g 39 faumed

& Fet faenfd=i =1 faramn wfiwa & 2
(A) 60% (B) 75%
(C) 62.5% (D) 67.5%

faemed B & ws®i ud faume@ D
fehdl 1 ua F=n 8 ?

(A) 3:4 (B) 4:3

(C) 13:11 (D) 12:13

A ABC ¥® D 3R E %uW: AB 3R AC
el & fag 39 R € % DE, BC &
AR 21 3R AD DB =3:4% @
gudid DECB 3R A ADE F &9%d &1
ST = T 2

(A) 27:64 (B) 9:49

(C) 9:40 (D) 3:7

& deoars 16 wifEl d waw ffvea
3gd | W == € 1 1741 9 § =% 102
T a9 €, oo 351 oima 4 ok g
S ® | 1791 U % 91E 39T irEa @
%2

(A) 27
(C) 31

(B) 34
(D) 38

10.

] (8

The number of boys in school C is
what percentage of the total number

of students in that school?

(A) 60% (B) 75%

(C) 62.5% (D) 67.5%

What is the ratio of number of boys
in school B to the number of girls in
school D?

(A) 3:4 (B) 4:3

(C) 13:11 (D) 12:13

In A ABC, D and E are the points on
sides AB and AC respectively such
that DE is parallel to BC. IfAD : DB =
3 : 4, then what is the ratio of area of
A ADE to that of the trapezium DECB?

(A) 27:64 (B) 9:49

(C) 9:40 (D) 3:7

A batsman has a certain average of
runs for 16 innings. In the 17th innings,
he makes a score of 102 runs, thereby
increasing his average by 4. What is

his average after the 17th innings?
(A) 27 (B) 34

(€) 31 (D) 38




WyH °. 13 Ud 14 & fou fHder

T € 13 3R 14 & IW A F o F=fafaa
U§-91¢ Ud YR &1 37494 HIfA :

s favafaarem & fafu=r gt o wdf fvo o

faenfiiar @t et d@w@mr = 5000

Direction for Question Nos. 13 and 14

Study the following pie-chart and table to
answer Question Nos. 13 and 14 :

Total number of students admitted in a

university in various fields = 5000

Distribution of the number of students

fafu= gt o faafta faenfoay =t @
into various fields
i i Fields No. of Boys

@ 4. T e MBA 56%

o1, e 44% B. Pharma 44%

Py festrfm G Fashion Designing 65%

BT Hae b Hotel Manégemcnt 2%
Al 68% Economics 68%
ERLERITY 80% Engineering 80%

13. %A fesmfin =t asfedl @ gra 13. Whatisthe difference between number
Frie &1 Trsfwdl & &4 fhat #1 3w of girls in Fashion Designing and
€7 number of girls in Hotel Management?
(A) 41 (B) 29 (A) 41 (B) 29
(C) 21 (D) 37 (€) 21 (D) 37

14, . i # dsfedl $Sifaftn & @rsal | 14, By what percent number of girls in
&I g 4 T wfae &9 € 2 B. Pharma is less than number of boys
(A) 49% (B) 58% in Engineering?
. . (A) 49% (B) 58%
(C) 42% (D) 33.3% (C) 42% (D) 33.3%
CIM -2 [8] Set-C
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fagedl o 4 WIS AR ® TG
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(A) T B A

(D) Wrsds " 3R AvaE w1 6
amq Ffedi 1 3w AN

16. 39 favifta sm@afy § qof &1 S =it
% ufEs |5 e € | afEs-gtan
q3F & A YS! Fa grar & fF e
gl | U gedm ® i #1 aeie |
39 i@ & fAoarea o faone €1 &t
UG & | A9 F1 HEAT 91T ?
(A) FROUN F1 IecT@ Hd gC THAEY
qGH I | HET MY

(B) Teilg He&di # 9gd o HI HA
H! A1fey

(C) THgdr & RV & Sid-Isdre
. & Afey

(D) 3TEEANT % HoR W I §e=l A
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15. Read the situation and choose the
best course of action from the options
provided :

Your superior has asked you to give
a presentation on a topic within two
days. You burn the midnight oil and
manage to finish it. However, during
actual presentation your superior is
disappointed and rebukes you for
the work done. What will be your
reaction?

(A) Leave the place immediately

(B) Resign from the job

(C) React and shout at the superior
(D) Ask for feedback and assure that

you will rectify the errors

16. Youare handling a time-bound project.
During the project review meeting,
you find that the project is likely to get
delayed due to lack of co-operation of
the team members. What should you
do?

(A) Ask for extension of time citing
reasons

(B) Ask for the replacement of team
members

(C) Look into reasons for non-
cooperation

(D) Warn the team members for their

non-cooperation




17. f&=t (H), 37" (E) 3R d@&ha (S) &

18.

Hay o 960 =Afaadi & FH & A% &1
nﬁnntrﬁ%ﬁ:mw%

oo
a0Va
)

= wree W WA Gl #1 WEhd |
WA aTEl & HIY S M2 ?

1
A) —
(A) 5

(B) 75
©) =
D) =

& é smepfn 3 faerd Forgen # 2

(A) 32
(B) 36
(C) 34
(D) 31

17.

18.

A result of a survey of 960 persons
with respect to their knowledge of
Hindi (H), English (E) and Sanskrit (S)

is given below :

(o0 [
avhva
ok

What is the ratio of those who know
all the three languages to those who do
not know Sanskrit?

(A)

5|~ o=

(B)

(©)

bd | p—
4 q‘c

(D) >

How many triangles are there in the

given figure?

(A) 32
(B) 36
(C) 34
(D) 31



19.

20.

21.

22.

feafafEr i A s ged w21 ® ?

7 2 35
9’ 5 8 11
2 3
(A) = B =
5 8
7 5
Cy 2 D) 2
()9 ()ll

gaq gt ge, 99 756896 H WIg #

11 =1 ot T foman s 9, 2
(A) | (B) 2

(C) 3 (D) 5

U& W H 595 5 H 999 T 15%
THYH 811 % 1 23% 1Y 9rd 33 & fag
5‘3"&3711@"":

(A) 850% H

The Genuine
Learning App

(B) 921%. ¥
(C) 795%. 9
(D) 861%. #

I G A % 45% W FAd T UH
IRt 1 W2 50 fire W ¥ 97 A
T W 9gEdl § | oo e W Iged o
oA 9Tl 9§99 1 $ifaT

(A) 2%

(B) 3

((f) |V, ©e

(D) 2% %R

19.

20.

21.

22.

Which one of the following is greatest?

Z’ z,éandi

9 5 8§ 11
@A) 2 ®) 2

5 8

i 5
) — D) —
© 5 ® =

The smallest number, which should
be added to 756896 so as to obtain a
multiple of 11, will be :

(A) 1 (B) 2

<€ 3 (D) 5

When an article is sold for Rs. 595,

there is a loss of 15%. To gain 23%, it
should be sold for :

(A) Rs. 850
(B) Rs. 92l
(C) Rs.795
(D) Rs. 861

Walking at 45% of his usual speed,
a man reaches his destination 1 hour
50 minutes late. Find the usual time to

reach the destination :
(A) 2hr

(B) 3hr

(C) 1%hr

(D) 2% hr



23.

24,

25,

132, 156 3R 192 @1 3¥E9. (T
H;UFE) x T ; 105, 150 3R 210 =
789 y ¥ 3 112, 196 3 210 F
TEY z¥ | G99 TSI UGY FHAE?

(A) x
(B) y
(C) 2z

(D) |t sa &

1,000 /%W @l ug A4 &R
700 &/fFm. Al uig B ® faamER
2:3% 39§ UF g uig s W R
|5 foreimmy Ut ang == § farat amma
et ?

(A) 9,800 %
(B) 8,200 7%.
(C) 12,300 %.
(D) 12,800 %.

12 g9, 11 afgensii ok 8 a=6 § 1020
Tfehcre aiel AT § | s gy, Hfgen
AR &= 3 ;3 : 2 % UM H dihore
g geei & el | fehaet =ieherd
3T 2
(A) 324
(B) 432
(C) 540
(D) 450

23.

24.

25.

HCF of 132, 156 and 192 is x, HCF
of 105, 150 and 210 is y, and HCF of
112, 196 and 210 i1s z. Which 1s the
greatest HCF ?

(A) x

(B) y
(C) z

(D) All are equal

An alloy is made by mixing metal
A costing Rs. 1,000/kg and metal
B costing Rs. 700/kg in the ratio
2 : 3. What is the cost of 15 kilograms
of this alloy?

(A) Rs. 9,800
(B) Rs. 8,200
(C) Rs. 12,300
(D) Rs. 12,800

1020 chocolates are to be divided
between 12 men, 11 women and 8
children. Each man, woman and child
will get chocolates in the ratio of
3 : 3 : 2. What will be the share of
men?

(A) 324

(B) 432

(C) 540

(D) 450



26.

27.

28.

29.

U SIAh U i oars ol 20% a1
fom & ol T e W 10%
o2 fegn I 8 | AR U & a9 o
gfg &t % 91a Hifa :
(A) 12% 9f&
(B) 8% Ht
(C) 8%3f&
(D) 12% &t

afz TF AEAER S F o, Sen
FRIAES ;43 F qua A ¥ R 3T
AEEE 12960 ¥4 WAL &, @ AFATHR
a9 FT darg s
(A) 20 9.7
(C) 30 J.4.

(B) 25
(D) 24 9.4

gfgad 15% W 2 a4 & fau o ffvsa
T A 3R Thgfe = & o9 F
AR 90 %. & | Uf¥r wra e

(A) 4,500%. (B) 4,000%.

(C) 3,500%. (D) 4200%.

Sa et a%g it Fma ° 35% Hi HAl
g3 1 3G fasht § 80% 1 gfg g3 13
T Wit | x% it 3fE &, & x w1 A
B

(A) 13 (B) 17

©) 19 (D) 15

26.

27.

28.

29.

The length of a rectangular park is
increased by 20% and its breadth is
decreased by 10%. Find the increase/
decrease in area of the rectangular
park :

(A) Increased by 12%

(B) Decreased by 8%

(C) Increased by 8%

(D) Decreased by 12%

If the length, breadth and height of
a rectangular box are in the ratio of
5:4:3 and its volume is 12960 cubic
cm, then the length of the rectangular

box will be :
(A) 20cm (B) 25cm
(C) 30cm (D) 24 cm

The difference between simple and
compound interest on a certain sum of
money for 2 years at 15% per annum
is Rs. 90. Find the sum :

(A) Rs.4,500 (B) Rs. 4,000
(C) Rs.3,500 (D) Rs. 4,200

When the price of an item was reduced
by 35%, then its sale was increased by
80%. If there is an increase of x% in
the receipt of the revenue, then the
value of x will be :

(A) 13 (B) 17
(C) 19 (D) 15



30. 21Uy 4 3R B HEW: 40 3 48 figge o

31.

32.

T ¢ W Hahd ¢ 3R T 3% Iy 9y
firte 5 om @relt = g €1 & 91y
it 9139 e 3 W ¥ 30 e ¥ R
Tl & | 6 ! & ©

(A) 450 o=

(B) 500 &=

(C) 400 =

(D) 480 e

T =R 15,400 % F 5 7t 3l 9 Fidar
Tiea 1 9% A9 H 10% W& FiEa |
20% @19 W == @ ¢ 1 3t wit A= aik
FHdd 1 I3 2,080 F. FI AV LR,
@t 7 FfEd &1 ora e Fn d 2

(A) 4,900%.
(B) 4,130%.
(C) 4,200%.
(D) 3,990%.

IR a+b+c=83Rab+bc+ca=1%,
@ Fd I fFE be(b +¢) + ca(e +a) +
ab(a+ b) + 3abc =?

(A) 4

(B) 1

C) 2

(D) 8

30.

31.

32.

Two pipes 4 and B can fill a tank in
40 and 48 minutes respectively, and
a waste pipe can empty 5 gallons per
minute. All the three pipes working
together can fill the tank in 30 minutes.
The capacity of the tank is :

(A) 450 gallons

(B) 500 gallons

(C) 400 gallons

(D) 480 gallons

A person buys 5 tables and 9 chairs for
Rs. 15,400. He sells the tables at 10%
profit and chairs at 20% profit. If his
total profit on selling all the tables and
chairs is Rs. 2,080, what is the cost
price of 7 chairs?

(A) Rs. 4,900

(B) Rs.4,130

(C) Rs. 4,200

(D) Rs. 3,990

Ifa+b+c=8and ab+ bc + ca =
1, then find bc(b + ¢) + ca(c + a) +
ab(a+ b) + 3abc =7

(A) 4

(B) 1

(<) 2

(D) 8



33.

34.

3s,

frfafas e o v fagd (7) & e
T 31 kA arelt S@&A F g
24, 25, 29, 56, ?
(A) 316
(B) 422
(C) 448
(D) 312

9r s-ue feu e ¥ o | =
frdl vR 99H €, vafd & e 2
I I[ET AH-THE Fl Fd S :

(A) CXIR
(B) LNIQ
(C) EVGT
(D) HSKP

Frefafaa s@en § g fagg () #
g & Ay sar-a9g #1 9

ELV, JHY, ODB, TZE, ?
(A) XVH
(B) YWH
(C) YVH

(D) XWG

33.

34.

35.

Select the number that can replace
the question mark (?) in the following

series :
24, 25, 29, 56, 7

(A) 316

(B) 422

(C) 448

(D) 312

Four letter-clusters have been given,
out of which three are alike in some

manner, while one is different. Select
the odd letter-cluster :

(A) CXIR
(B) LNIQ
(C) EVGT
(D) HSKP

Select the letter-cluster that can replace
the question mark (?) in the following

series :
ELV, JHY, ODB, TZE, ?
(A) XVH

(B) YWH
(C) YVH
(D) XWG



YA H. 36 U4 37 & o Fader
Fa § T guN & yga FrAfafad s &
m?ﬂﬁm:
e AP, O, RS, T,U,V 3R Wk 9ty
AFZTH AN FH A EI1Q, VIS H
AT AT | W, QF ST AT TIF WA P&
TU T WA WRIR PR VE T da1 81
Q 3 TU& g & fagdia &1 93 € |
36. 5% @ e HA € ?
(A) U
B) T
(© P
(D) ¥ 9 #1g Tl
37. frafafga § @ =W-91 F9A 98 @&l
??
(A) SR P TH W & fauda a4 §
(B) R,SHTEIAR[AwUE
(C) T,USRS&H 99318
(D) P,REIRUF S da1

38. o fag-ga woas & farlid vas W
HH-91 fag g ?

B B o 0
y (Y] o (Y] 6 |25 [0
(A) d (B) B
(C) o (D) ¢

Direction for Question Nos. 36 and 37

Read the information given below and then
answer the questions that follow :

Eight friends P, Q, R, S, T, U, V and W
are sitting in a circle facing the center.
O is sitting between V and S. W is third
to the left of Q and second to the right
of P. R is sitting between P and V.
Q and T are not sitting opposite to each

other.

36. Who is third to the left of S ?
(A) U
(B) T
<c p
(D) None of these

37. Which of the following statements is
not correct?
(A) S and P are sitting opposite to
each other
(B) R is third to the right of §
(C) Tis sitting between U and §
(D) P is sitting between R and U

38. Which symbol will be on the face

opposite to the face with symbol o ?

B B o 0
vy [H] o [9] 6 |®)[ 5 [¢
(A) o (B) B
C) 6 (D) ¢



9T H. 39 & 40 & fere Prder
wfifeerfs 1 srers ifse qo fag o fawei
¥ ¥ frw s A w1 1 9P

39.

Y UF FHced § A, favmg E,

AfHa 3yt St S diar 73 § 9% 9eE

davE | 21 gen €, foad e difma

I @A T | 39 T H4)?

(A) ifua aen d &1 S8 a1 39 979
F g O 20

(B) 3193 WeHHdl ¥ |edm o aedn
TR dR-a0e dr@ o % S
YA a8 ) =@ <11 foh 3799w
FI FUIfed A § 37794 TH gaari
I geEa el ¥

(C) = feu 91 & w9g & 39 3791
af| 1 a1 <1 fo 39 @ | defia
STAWE STH U T 7

(D) 39 aftes =1 fafea g0 q =@ 20
fo 39 =14 @ 9w 18G9y Tl
2

Direction for Question Nos. 39 and 40

Study the situation and choose the course of
action from the options provided :

39. Youare the IT expert in a consultancy,
but the work assigned to you pertains
to Human Resources, an area in which
you have limited knowledge. What
will you do?

(A) Do limited job and send it to the
boss

(B) Take help from co-workers and
after learning the ropes dispose
the work and inform the senior
that you have taken the help of a
fellow worker to finish the job

(C) At the time of assignment, you
will inform the boss about not
having relevant experience

(D) Inform the senior in writing that
this work is not of any concern

of you

40. You own a factory. One day, there is

40. Y UH FREM & Hifas & | Th e
@A § WR-TA EH @ q91 3! noise in the factory and you are told
A 141 fa < Heigl W AR Fi TF T2 that an iron rod has fallen on two
frE %13 dm g0 e 97 8 workers. They are badly injured and
Y1 9% R ¥ GA 9% WI e | gt & are bleeding. Everybody is in panic.
aTdfara € | 39 T HE AR ? What should you do?
(A) m :?i%zqm T g = (A) Call the police to control the
situation
(B) Wl ¥ FEN e ﬁ 9 (B) Tell the labourers to mind their
m"a..lﬁ :T;‘[:ITI ;ﬂq < _— own business
© ::? mmﬁw ¥ W?:Tﬁ —-— (C) Call the union leader and discuss
- the matter with him
(D) W WS F et Fafsea Hi (D) Get immediate medical attention
e HE AT to the injured labourers
CiM -2 [17) Set-C




YA |. 41-45 & faw e

FYA F AFYES FHIT wh (ARG
M#W?ﬂm:

T WY #idw & wEy § afEa F fag

IAEEAR &1 999 FE F ¥4 fAfafiad €
() 1 T, 2017 H I 25 T€d @
T F &

(ii) g7ad 80% F Q1Y THa! 919 &l

(i) Teret oft fawa o =pFam 70% & @y 124
g B

(iv) a9 == 9 70% @ifes fwan 2

(v) =afeamd SR § gFam 60% Bifge
fear &

39 IWICaR & a9y o, T fFrafafad & stemn

It v T Far 2 —

(@) I (i), w& 12 ® =TEm
60% wifae foem &, afea 124 e o
fasm fam &1 3@ amen At &
fauria gum =1 =1 9 &

(b) 3T (v), AfFITM TEEER § 50%
sifqe fear €, S9&1 wmen wsfyyH
FHfafe 1 a9 IR
frefafea &% w7 ¥ & Iufiear

1 faaror fem 71 %1 a9 S9Ea feafai

TE Y% 9 H @ T IHSR F IMER W

FHaEdl § ¥ UF &1 A9 H1 @ R 39

FHER H T & 393 IW Y fafed w0

21T | 379 e 9 o & T SRt % oremEn

3R Fo 7€ 9 wHd € 13 9t wme | s,

2017 % JER ¥ |
HE YAF WA § & T g B @ W

TR 3791 I Fafea i)

Direction for Question Nos. 41-45

Study the statements carefully and answer

the following questions :

Following are the conditions for selecting a

candidate for MBA in a top college :

The candidate must—

(7)  be not more than 25 years of age on
1 August, 2017

(7)) be a 10th pass with minimum 80%
marks

(7ii) be a 12th pass in any discipline with
minimum 70% marks

(#v) have secured minimum 70% in Group
Discussion

(v) have secured minimum 60% in
Personal Interview

In the case of candidate who fulfils all the

conditions except—

(a) At (iii) above, but has secured at least
60% in Class 12th but had Science
in Class 12th, his/her case is to be
referred to departmental head of MBA

(b) At (v) above, but has secured at least
50% 1n Personal Interview, his/her
case 1s to be referred to admission
committee

In each question below, details of one
candidate are provided. You have to take
one of the following courses of actions
based on the conditions given above and the
information provided in each question and
mark the number of that course of action as
your answer. You are not to assume anything
other than the information provided in each
question. All these cases are given to you as
on | August, 2017.

Now read the information provided
in each question and mark your answer
accordingly.




41.

42,

gt A 127 H fagm 1§ 85% 3 108 A
90% T foran | 367 =AfaT HiaTehR
7 61% 3R aye 991 § 74% wifae foan |
IHH TH 24 31U, 1994 I G o1

(A) w9 B THALT F faurmega =
IS S ®

(B) STHEER HI 1 1§
(C) Swiigar =t 7&f g 9 &

(D) 3ucrsy iy T S v o &
fere sTqata # '

e 7 1271 § fag fawa 9 67% 3R
10aT ¥ 92% wfaa foar | 397 =faama
WehR H 85% R §YE 991 ¥ 82%
gifae foran 1 sae 91=1 12 faama, 1995
Wl g3 Al

(A) IHEER & T AR
(B) ¥ fvig o3 & fow srqafa &

(C) wme =i fuvm &fafe & 9 d=n
Eicil

(D) ¥HA @ THELT & favrmay &
TE ST R

41.

Sushant scored 85% in 12th in Science
Stream and 90% in 10th class. He
scored 61% in Personal Interview and
74% in Group Discussion. He was
born on 24th April, 1994 :

(A) Case is to be referred to

departmental head of MBA
(B) Candidate is to be selected
(C) Candidate 1s not to be selected

(D) Data provided are inadequate to

take a decision

Dikshant scored 67% in 12th in
Science Stream and 92% in 10th
class. He scored 85% in Personal
Interview and 82% in Group
Discussion. He was bormn on 12th

September, 1995 :
(A) Candidate is to be selected

(B) Data to take a

decision

inadequate

(C) Case is to be referred to admis-

sion committee

(D) Case is to be referred to

departmental head of MBA



43.

44.

45.

oY 7 124 ® Fon fawa § 75% 3k

104t o 95% eifas fean | 393 =afarmE

TR H 55% iR 99 == # 76%

wifas foran | 391 5779 19 T, 1993

1 g3 o1 :

(A) TS Y THELT & faummeay &
g NS SR

(B) IHHICER &I A1 A &

(C) Iwiear 1 T I 91 &

(D) ume & usfiym sfiafe & gg g
Elsif

Tt 7 126 9 69% AR T8a d 87%
gifae foan 3 =afaama memer o
62% 3R TqE == | 74% wifaa foma
I9H 9 13 feqm=r, 1992 =61 g3 o1
(A) =2 fofg o & forg sragia &
(B) wma H wefvm sfafe s o
Sl '
(C) 3witear &t F&f 971 I 8
(D) IHHIGAR Y T AT ¥ |

& A 1241 § arforsy fawg § 65% 3R

1091 ¥ 85% wifae faman | 397 =afema

qEER H 65% 3R 99 =991 ° 80%

eifast faan | SEh 57 29 3P4, 1995

1 g 91

(A) IEEER HT T4 IA &

(B) "W # THELU, F faummeasy &
e S SR

(C) =M Fi vefgem wufe & g d=n
ST

(D) I=ficar &I 7&1 g1 9 &

43.

44.

Rishabh scored 75% in 12th in Arts
Stream and 95% in 10th class. He
scored 55% in Personal Interview and

76% in Group Discussion. He was
born on 19th November, 1993 :

(A) Case is to be referred
departmental head of MBA

Candidate is to be selected

to

(B)
©)
(D)

Candidate is not to be selected

Caseistobereferredtoadmission
committee

Roshni scored 69% in 12th and 87%
in 10th class. She scored 62% in
Personal Interview and 74% in Group
Discussion. She was born on 13th
December, 1992 :

(A) Data inadequate to take a
_ decision
(B) Case is to be referred to

admission committee
Candidate is not to be selected
Candidate is to be selected

(©)
(D)

Shekhar scored 65% in 12th in
Commerce Stream and 85% in’ 10th
class. He scored 65% in Personal
Interview and 80% in  Group
Discussion. He was born on 29th
August, 1995 :

(A) Candidate is to be selected

(B) Case is to be referred
departmental head of MBA
Caseisto bereferred toadmission
committee

Candidate is not to be selected

to

©)

(D)

CIM -2

[20]

Set-C




46.

47.

48.

= fer Mo SR faredi 4 4 39 @
faesheq @1 gfe St dig g § St S
e 21 30 ® o9 9@ ugd vt | g
VI ISTEA € :

VM : TeAgH :: TWH: 2
(A) fEr
(B) fam=
(C) e
(D) 70

fdl U @9 F2 91 § ‘FEATURE’
H ‘UVZGFIV’ foran siman 8 1 36t &e
a1 § ‘CHARACTER’® &t =1 famn
ST ?

(A) XSZJZYGV]
(B) XSZIZXGVI

(C) DSZJZYGXI]

The Genmne

§ Learning App

India's best
% online learning 3
latror

(D) XSZJZXHY]

4 fou o 9r fawewi 4 A 3@ U
fawes =1 9T st Al den 9 St

34! 9@ 21 g3 & 99 @ e gemn
AT T I E
7:336:: 11
(A) 1210
(B) 990
kC) 1320
(D) 1122

'*

46.

47.

48.

Select one option out of the four
options given below which is related
to the third word in the same way as
the second word is related to the first
word :

Bhutan : Ngultrum : : Iran : ?

(A) Dinar
(B) Rial
(C) Shekel
(D)

Euro

Inacertaincodelanguage, ‘FEATURE’
is written as ‘UVZGFIV’. How will
‘CHARACTER’ be coded as in that
language?

(A) XSZIJZYGVI

(B) XSZIZXQVI

(C) DSZIJZYGXI]

(D) XSZJZXHY]

Select one option out of the four
options given below which is related
to the third number in the same way
as the second number is related to the
first number :

71:3386:: 11
(A) 1210
(B) 990
(C) 1320

(D) 1122



9T H. 49 TE 50 & feg et

frfafad syl & sl @1 wryEs gfeu
7% 1A S fF FweE § 9 T e 98§

Safer 9 I 928 § 37 Ydid 2idt § | 98 99
wifeg fa feu o fewel o Q@ 19 @ifhs w0 @
mq’r%aﬁcm%

49, FHYA:

()
(i1)

I1.

[11.

(A)

(B)

(©)

(D)

[ft TR 95F B &
FO [EHR THI-T3 814 €

geft frewd 1, 11 3 111 ol &
AR &

ferds feped 1 3i 11 Foi & 31ER
g

ferds el [ 3fR 111 %ol & 3THOR
g

fad frsrd 11 iR 11l wl &
ATEAR €

Direction for Question Nos. 49 and 50

Read the given statements and conclusions

carefully. Assuming that the information

given in the statements is true, even if it

appears to be at variance with commonly

known facts, decide which of the given

conclusions logically follow from the

statements :

49, Statements :

(1)
(id)

L.
IL.

IT1.

(A)

(B)

©

(D)

All prizes are medals

Some prizes are certificates

Conclusions :

Some certificates are prizes
Some medals are prizes

Some certificates are medals

All conclusions I, II and III

follow
Only conclusions I and II follow
Only conclusions I and I1I follow

Only conclusions II and III

follow



50. &H9H:

-3

(i)
(i)

Tt Fo AR &
H1¢ g1t IR T e

freny

L
IL.

I11.

(A)

(B)

(&)

(D)

13 ol g1t FET era
E2ER 1 s e FARA
FS Tl T B

fads femd 11 F9=i ¥ 3ER §

fak frepd [ 3R 11 =uHl &
STER &

fads frerd [ ol 3 TR €
fak frepd 11 3R I oA &+
FEAR &

gfe frdl @" F2 991 § ARMY’ &I
59065125 foman 5ra1 2, @1 ‘NAVY' &
fore 39 e § =1 foen s 2

(A)
(B)
(C)

(D)

705110130

906220125

705110125

701550130

50. Statements :

(@)
(if)

All dogs are lions

No elephant is a lion

Conclusions :

L.
I1.

ITL

(A)

(B)

(©)

(D)

No dog is an elephant
No lion is a dog

Some elephants are dogs

Only conclusion II follows

Only conclusions I and III follow

Only conclusion I follows

Only conclusions II and Il

follow

Ifin a certain code, ‘ARMY " is written
as ‘59065125, how will ‘NAVY’ be

written in that language?

(A)
(B)
©

705110130

906220125

705110125

(D) 701550130



W ¥, 52-56 % fre frdwr

TTHE TR TEH S SR TH W@ T

et 3R e F9E % d9 @R 99 | o
3R B T & o9 g9 € | i w A
3 & el & o9 W@ gu ¥ A siv A
Tl & o9 3 99 @ gC ¥ | fad u g
A 3R el T & A9 @A § |
T A g9 o 31 S A1 A= 7El T
¥ 1 g% 3R N Sl & oe 31 999 ¥ | §%g
TG A T F S @ g 7, AR 9w
T SR TR B |

52. T T1 &1 599 g9 A= B 2
(A) Tt
(B) dien
(C) =
(D) T & =i &

The Genuine
Learning App

53, ToTEt S99 ¥ ufden § w99 @i

fafasn g2

Direction for Question Nos. 52-56

There are 8 boxes of different colours, viz.
Green, Blue, Pink, Black, Orange, Yellow,
White and Red, which are kept one above
other.

There are four boxes between Pink and Red
box. There are two boxes between Red and
Green box. Three boxes are kept between
Orange and Green box. Two boxes are kept
between Orange and Blue box. Only one
box is kept between Blue and Black box.
The Black box is not kept immediately
above or below the Orange box. There are
two boxes between White and Yellow box.
The White box is kept above Red box, but
not on the top.

52. Which coloured box is kept at the

bottom?

(A) Pink

(B) Yellow

(C) Red

(D) None of these

53. What is the position of Black box with

respect to Pink box?

(A) %= (A) Two places below
(B) & IR (B) Immediately above
(C) &= = (C) Immediately below
(D) %8 | % T (D) None of these
CIM -2 [24] ) Set-C



54.

56.

57,

it iR A sl & st fee a=
¥
(A) 3
(B) 2
C€) 4

(D) 379 9 =18 &l

gaE IR fFg g €2
(A) Tt
(B) @&
(C) =t
(D) diem

frafafaa 9 4 feg &1 =1 9= @@
TR F NF FTWE?

(A) =

(B) ¥%e

(C) =

(D) ¥ | = T&

=R faswedi § | & 319 919 @ 3em ¥
3 37e7 faehed =1 9 FIf9C

(A) et

(B) =«

‘(C) EIE|

(D) =HmES

A online learning R
platform g

54.

55.

56.

57.

How many boxes are kept between

Yellow and Orange box?
(A) 3

(B) 2

(€ 4

(D) None of these

Which box is kept at the top?
(A) Pink

(B) Red

(C) Orange

(D) Yellow

Which of the following boxes is kept
immediately above Red box?

(A) Orange
(B) White
(C) Black

(D) None of these

Out of the four alternatives, one is
different from the other three. Find

that odd one out :
(A) Elephant
(B) Whale

(C) Hawk

(D) Bat



58.

59.

feu u wya 3 Frafafad aronsi
fa=m #ifer i freem Fifag fF F9-
|t uron wyA § siafifea ® ok TeTER
37991 I G :

YA ; A Wit 7 frofg fomn @
fer wret ¥ gt yguul & W &l &4
F ¥ fau wer #t g F i fem
gl FR@E & 9l ®WEmRa e
I |

i

TIOTIY

[ 3 HRE@A # W & ERl
ARG ® & a1 gfas ¥ e
¥ YguY & W FHH &1 gl ¢

. ¥ sr@EH & fag Iw@m 4
At 4T wex F et ITeTH §

[Il. 3 H@EH 4 ¥ 3% &l TdSEH
T T F fau o s B wedl |
AT foFan <1 gehar §

(A) Fa« 1] safifea €

(B) et 11 3R 111 siafifea & W e

(C) Faa | 3ir 11 siafaféa & ,,

(D) ¥ | =i TE

4l 3R § @ UF g8 99 Fl 27 Th-
quE B 94 § e T o 9 AR

58.

59;

Consider the given statement and the
following assumptions. Decide, which
of the assumptions is implicit in the
statement and choose your answer
accordingly :

Statement : The civic authority has
decided that all the factories located
inside the city limit be shifted outside
to reduce the level of environmental
pollution in the city.

Assumptions :

I.  The pollution level in the city
in future may reduce after these
factories are shifted outside the
city limit

[I. Enough usable land is available
outside the city limit for these
factories

[II. Many of these factories may

shift to some other smaller towns
to remain profitable
(A)
(B)
(©)
(D)

Only I1 is implicit
Only II and III are implicit
Only I and II are implicit

None of these

All the faces of a larger cube are
coloured red and then cut into 27

. i & s ac identical smaller cubes. Find the
it o s = L : number of smaller cubes in which
(A) 24 (B) 8 only two faces are coloured :
A) 24 B) 8
(C) 12 (D) 9 (4) (B)
(C) 12 (D) 9
CIM - 2 [26] ) Set-C



60. Tavam =1y & 19fg e =T &
vaa Afed & fom #1 Tt €1 fem g
= G ¥ wfa a6 ) wRw e
1 THHTA 954 &1 9fa € | Afed &1 gy
T 7 ey § 2
(A) Wi
(B) U=

€) &
(D) T\

WY H. 61 UE 62 & for fder
& TE G F AGEF AAGT HifoC T qH
d. 61T 62 & IW 4T

A,B,C,D,E,F,G,H3r *fag¥1C,BR
2fH. @ HRI14,BR | fHd SWAR 3H,
AR2 e efawd ®1G, HA 1 .. vfmm
gt D, cR3fed @HgsiRF G
2@ M. IWMARIL, B3N CFgA T § Fafh
E, H¥RD&Eaad ¥}

6. EAR/F A ®Igd N ?

(A) 3fes.  (B) 2fs
(C) sfast. (D) 77 @ =+ e
62. ENFFaa=sigl#ne?

(A) 1fed.  (B) 243 &

(C) 242 f&H. (D) 379 & =+ =&

60. Ravi is the brother of Sweta. Jyoti
is the sister of Neelam. Sweta is the
daughter of Rohit’s father. Neelam is
the daughter of Subhash. Jyoti is the
mother of Ravi. Mahesh is Neelam’s
only sister’s husband. How is Rohit
related to Subhash?

(A) Brother
(B) Grandson
(C) Son

(D) Son-in-law

Direction for Question Nos. 61 and 62

Study the information given below carefully

and answer Question Nos. 61 and 62 :

A,B,C, D, E, F, G, Hand I are nine
points. C is 2 km east of B. 4 is 1 km north
of B and H is 2 km-south of 4. G is | km
west of H while D is 3 km east of G and F is
2 km north of G. / is situated in middle of B
and C while £ is in middle of A and D.

61. What is the distance between E and / ?

(A) 3 km (B) 2km

(C) Skm (D) None of these

62. What is the distance between E and F?

(A) 1km (B) 243 km
(C) 242 km (D) None of these

CiM -2

[27]

Set-C



63. YYAATE® WaAH A& ¥ 70. vt 3 G ww @ feat
(A) Fi (B) e Iqurerai ° | ¥ ?
(C) =a=l (D) T (A) 3 (B) 7
<€) 9 (D) %78 | & ot T&l
o il 71. erETEr v EH | e sy ed
(A) TEA (B) faw -
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